2.5

200
200 + 25 200
25 200
o =
200 + 25
200 + 25 80
200+ 2.5=80
1 x10 | x 10]
2000+ 25=80
o
6.5m 7.8kg
im
kg
78+ 65




3.6+ 04
¢}

1.2m 240

0.8m 240
im

o

2.50 0.7 ¢

Q




10

142 2.6k
g 10
kg
10
630 18




11

12

13




200

10
25 200
200
) im | Im |0.5|
O
O
:I 200
] | |
15
0 O 200 im 80
) | ] 25m  250cm 200+ 250
0 1 2 3 200+ 25 200+ 25
m I x 10 l x10 | x 10
0 O 200 200+ 25 2000+ 25
L 1]
: ; —— 80
0 1 2 3 O x 2.5=200
m 0 =200+ 25
0 O 200
| I —t+—
: l — 200
25
0 1 2 3 25
m
200 + 25
20




200 + 25

200 + 25 80
0 O 200
| I —t—t
25
0 1 2 3
M 15
0 O 200 200+ 25 O <=<— 1
: I —+— L x10 L x10 |79
I | —+— 200+ 25 —
25
0 1 2 3
m
200 + 2.5=0
I x 101 x 10 O =80
2000 = 25=80
200 = 25 O
I x 10 | x 10
200+ 25
O 0.8
Im 0.8 20
200 = 2.5=80
L x 101 x 10}
2000 -~ 25=80
10

10

10




78+ 6.5

6.5m 7.8kg
im kg
0 O
| 20
——
012 3
7.8+ 6.5=1.2
l x 10! x 10
75+ 65=12
0.78 + 100
0.78+ 6.5=?
I x 1000 x 10 15
78+ 65=12
0.78 + 6.5=0.12
l x 100] x 100
78 + 650 =0.12
0.78 + 6.5=0.12
l x 100 x 10
7.8+ 65=0.12
10
75+ 15
96+ 24




20

15

36 48km

18 24

48+ 24

15

36+ 24

0.75

18+ 24







10

630

10

18

X

15

10

15

630

Ox 1.8

630
630 +
350

Ox 1.8

18

O

-10 -



-11 -



11

20

20

-12 -




- 13 -



